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Molecules convert from high µ slate
to a low µ state , until µi=µj
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how does µ depend on TI
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Consider within are phase
µu= G- = Tt -Ts
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Oswalt bugs

DÉ = G-( liq,-1m) - G- (solid,Tm)=°

@Tm liq & solid are in equilibrium
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If small Inonu scale) system
no true true phase transitions
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How does pressure affect µ
P biggest effect on gasses
Gibb- Duhem
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GD eqn dpetsdt - Jdp=o
one equation for µ in each phase

din

¥IT

liq



2 planes of MCT,P)
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Gibbs phase role

d. o . f. = # components -#coexisting
purses
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things you can change & still coat
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